General intgral-differential equation under conditiion � EMBED Equation.3  ���.


�EMBED Equation.3���	


What is being solved now:


�EMBED Equation.3���,		(1)


where the sign � EMBED Equation.3  ��� means that here the integration by �EMBED Equation.3��� is produced along the total plane z=0, and the kernel �EMBED Equation.3��� is equal to:


�EMBED Equation.3���.				(2)


The total current in the external circuit of the n-th detector is the sum of these 2 currents:


�EMBED Equation.3���,						(3)


where


� EMBED Equation.3  ���,		(4)


�EMBED Equation.3���.	     (5)


The sign � EMBED Equation.3  ��� means that here the integration by �EMBED Equation.3��� is produced at z=0 along the contact plane of the n-th detector only, the sign � EMBED Equation.3  ��� means that here the integration by �EMBED Equation.3��� is produced at � EMBED Equation.3  ��� along the area of the p+-island of the n-th detector only. The kernel �EMBED Equation.3��� is equal to:


�EMBED Equation.3���.				(6)
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